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Part-1 SN e
Choose the correct answer;: . 15%1=
1) Which of the following is used as acidic flux?
"a) Cao b) F(.C) c) Fesio, d) $i0;
2) The role of barium sulphate in Rosenmund neduumn is &
" a) Catalyst b) Reducing agent c) Catalytic poison d) Promoter

3) Assertion : Phenolis more acidic than ethanol
Reason : Phenoxide ion is resonance stabilized tion
a) If both assertion and reason are true and reason is the correct explanatit
of assertion - orrect
b) If both assertion and reason are ture but reason is not the ¢
explanation of assertion .
c) assertion is true but reason is false
d) Both assertion and reason are false
4) Which one of the following is not produced by body’

a)DNA b) Enzymes c) Harménes d)Vltélm'Ct e
5) Match items in columnIW|th the items of Column - 1T and assign the cor® ¢
Column-1I Column - II
A Borazole 1. B(OH);
B Boric acid 2. BjN;H, ¢
C Quartz 3 NaZ[B OS(OH)4] 8H,0
" D Borax 4. Si0,
: A B C D
a) 2 1 4 3
b) 1 ekt 3
) 1 3 4

d) None of these :
6) CsCl has bee arrangement, its unit ceII edge length is 400 pm, its inter atomlc distance is

: v X400
) 400 pm vb)800pm _,c)\/gxloopm Ak pm
7) pHof 0.001 M HCl is | oy A » .
)2 b)3 04 d)-5

8) The sum of primary valency and secondary valency of the metal M in the .
complex [M (en), (OX)] Clis

a)3 ‘ bye g €y =3 d)9 .
~_9). The half life period of a first order reaction is 5 minutes, the time requrred for:
99.9% completion is nearly equal to - :
-+ a)99.9min b) 49.9 min - ¢)10 min - d)50 min
10) The blue colour of the sky is due to ............ of air particles
-a) Tyndall effect ~ . .b) frequency factor
c) activation energy: ' ~ .d) collision rate -
11) Which of the following is'weakest acid among all? e N
a) HI b)HF C)HBr d) HCl: = -
12) The most common oxidation state of actinoids is. ; o
a)+2 - ¥by+4 ‘ 0 +3 i d) +"6
13) Anifine + Benzoyl Chloride — Y91 ¢ H;NH — COCH, this reactlon is known as -
a) Friedel - Crafts reaction =~ - ; b) HVZ reactlon e
—c).Schotton - Baumann reaction . 'd) Kolbe's reaction
14) Which of the following.is a mono- sacchande7 i it Ly &
a) Sucrose b) Galactose - '¢) Lactose - d) Maltose .

15) How ‘many Faraday's of electricity are reqwred for the followmg reaction to
occur MnO; — Mn** - o ‘
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¢ any six questlons. Q No. 24 is ccmpulsory i ﬁxz..lz
By which method alumlmum ls extracted De.acnbe thx, role ot Cryolite in thﬂ

extraction of aluminium

7) Draw the structure of Diborane (ﬁ Hy) %
- Write the differences between wlutn phosphorus and red phosphorus

.;"%gj What is meant by the term "Coordination number™? What is the co- Gl’dmuhon
S cnumber of atoms in bee structure? :

¢ fWhat is buffer solution? Give the example for buffer solut!on
i Ultra filtration - Write short notes _
;‘;j_;gz) Write a note on esterification reaction
23) Write the structure of Orcinol and Phloroglucinol
< _24) Mention the Oxidation state and co- -ordination number of ccntrai metal atom/

= ijonin Na, [NI(EDTA)]

A“ls er
15)

Part 11X ;
Answer any six questions: Q.No. 33 is compulsory. 6%3=18
' (25) What is allotropismg#Mention the allotropes of Carbon
26) Mention the uses of Chlorine _
27) Why d-block elements form complexes |
,.What Is GFSE? - ¢

“Write notes on Schotky defect »
\307\Wnte a balanced equation for the dissociation of the following in water and

% “~_identify the conjugate acid - base pairs 1) NHj 1) H,50, . _",,{7 -
‘31)) Explain Cannizaro reactions” . - oy
\?z) Explam the reducmg property of formic acid with example . 7 ¥
3 5% &
\PB)\ Ethylene glycol 773 k> I 1% e
N ’ : 4 3 ' o ¢
Anhydrous, N Fiiid A B, C \‘“’ s
. ZCh " NG Pt N 3 $
8 Lo ' Part-1v . av A
Answer all the questlons ! ' 0y, 5x5=25

Lol 234) a) Based on VB theory explaln why [Cr(NH3)6]3+ is paramagnetlc while
‘ [NI(CN)4]2' is diamagnetic =~ i
‘ . (OR) .
m Compare Ianthano:ds andactinoids -
. 35)(\‘) i) © Give'the limitations of Ellingham dlagram
~“-’< i) Write the uses of Borax
' ~(OR)
b) Discuiss the preparation of collonds by dlspersmnmethods any (3) methods.
: 36)@ i) - Define Buffer index _
%l u) Derlve the relatlon between pH and pOH
D - S . - (OR).
Salar ~D|scuss the Electro chemlcal mechamsm of corrosmn
*37}.%) i) . Whatis Urotropme, how will-you prepare and wrlte its uses

S, i) Wr|te carbylamlne reaction = .
t.,;(j S e = .
e i , : (OR)

W N2 b) ) Write a note on .denaturation of protems
* i) Give any three differences between Hormones and Vltamlns
3 ,(':\ i ? A
38{;@)_.;) What are blodegradable polymers Give, example
"i;n) How do antsseptlcs dnffer from dlsmfectants7
AR 3 (OR) L
) ,Write notes on i) Mustard: onl react|on ||): Diazotization reaction =~ &)
T m) Gomberg reactnon ek ' T

- . - ua.&vqn,
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